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The first group:
1) Find the arithmetic sequence in which T; =32 , T,=86 and S, =545

SOIU: e

2) An arithmetic sequence its second term = 13 and the sum of its first ten terms equals = 235.

Find this sequence.
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The second group:
1) Find the arithmetic sequence in which T; =17 , T,=-95 and S,=-585
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2) An arithmetic sequence its third term = 17 and the sum of its first ten terms equals = 295.

Find this sequence.
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The third group:
1) Find the arithmetic sequence in which T;=-26 , T,=61 and S,=-525
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2) An arithmetic sequence its second term = 24 and the sum of its first ten terms equals = 345

Find this sequence.
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